SIFT g2 & IR B T 87

What is Karmavada according to Jain philosophy ?

S g § 9TpIER BT Hecd A9 |

Explain the importance of vegetarianism in Jainism ?

a1fee Sia St &t faga fadT HIfg |

Explain in detail the non-violent life style.

(i)

L X34
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Note : Attempt any five questions. Each question carries equal marks.

U 1. &1 P PR 7T 82 FHARTC

What is the cause of violence ? Explain it.

g. 2. SF g9 & IgIR Fadcdl Pl T |

Explain the new elements (Navtatva) according to Jainism.

U 3. PR FT 87 ISeN0 Jfed THATU |

What is the shravakachara ? Explain it with examples.

q. 4. S 32 & AR SFPradE IR Il STfetd |

Throw light on Anekantwad according to Jain philosophy.

U. 5. 9F 3R q9 H 3R TS PN |

What is difference between Emotion and Mind.

(i) $.9.3./PT.0.



Y. 3. FIOR T 8? TIER &b AT U 1N B fadaqr Hifvi |

What is innovation ? Discuss the advantages and barriers of
innovations.

372ar/ OR
et & A STRICT | 31T 3T 9T 82 S & foed ol &
gfcr IRl dT 39 SR BT I HRAT AT ?
What do you understand by the social responsibilities of an

enterpreneur ? For which sections of society the entrepreneur
should fulfil this responsibilities ?

q. 4. UM B ISFIR & AR B Gord H fHADT DT TISC DI |

Explain the role of entrepreneur in generation of employment
opportunities.

372ar/ OR
e 3iefie e 5 Rige Sca— 8 & HRU Ja1sd a2l
U 3RIGe DI R Bl H IEFT Dl JfFiapT Fase HI |
State the reasons for regional imbalance in industrial development

and explain the role of entrepreneurs in removing these
imbalances.

¥. 5. fyafq dae= & Safi & Jfier 6 fddemr HirT |

Discuss the role of entrepreneur in export promotion.

3720ar1/ OR
IRT § Il & g T A [GhrT & PR Bl FIC BIH |
T dig T A R 3g gama AR

Explain the causes of slow growth of entrepreneurs in India. Give
suggestions for rapid development of them. "

(i)
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Note : Attempt all questions. Each question carries equal marks.

U 1. IUH I IY R FIS &7 ST P PRI ol g HIH |

What do you mean by an Entrepreneur ? Discuss the functions of
an entrepreneur.

3121/ OR
ST & IHTTH -3 ardEaRur & Tchl B TS |

Explain the components of the socio-economic environment of
entrepreneurship.

¥ 2. frd A Supa H TAYAT & ol IS WH dTel AT ol
T ST |

Discuss the various steps taken for the establishment of business
venture.

3121/ OR
ST Yoit T 57 SAD! [JAYAT3N DI TISC DIV |

What is venture capital ? Explain its characteristics.

(i) $.9.3./PT.0.



7.

9.9.

=1 o aFaR T HIRTT / Distinguish between the followings-
() @I srarE faaRr T ferget

Fund flow statement of Balance Sheet
(ii) PN VaTE fJavor vaq 3 foaRor

Fund flow statement & Income Statement

U Fread aff § et et forfies o e e ued Y i 87
The following information is obtained from X Co. Ltd. in a certain year.

Rs.
Sales 100000
Variable Costs 60000
Fixed Costs 30000

AT T IUTd, 9 fess fomg, gRam dH T &l TuFT HIfg |

Find the P/U Ratio, Break even point & margin of safety.

ferfeTRad Tl I ATt Araeft Aeft faemun &1 uReer Hifvi |

From the following Data, Calculate all the variance relating to material.
Actual

Standard Actual
Qty. (units) Price (Units) Price

Material

A 100 20 215 18
200 17 385 20
300 600
Less: 10 % Loss 30 Less Loss 70
Output 270 530

v9)

1 X2/

(i)
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Note : Attempt any five questions. Each question carries equal marks.

9.

1.

Ta+Y gich] @ 31, & TaH U ol TS DI | / Explain the
meaning, scope and nature of management accounting.

il faamor fa9emur W 39 T 9T § | SAPT db-ial ol quie

BT | / What do you mean by 'Analysis of Financial Statement?
Explain its techniques.

e YdTE R T 82 s TATET BT aFMTpvur HIviT | / What

is cash flow statement ? Explain the classification of cash flows ?

goic R UGl & ST FAT B | 3B T T 1R @l quie

BT | / What are the objectives of budgetary control system ?
Explain its advantages & limitations.

o1 R Fféreg fewafort forRaw / Write short notes on the following
() I MYR §oic / Zero Base Budgeting

(i) frsuTee §5ieT / Performance Budgeting

(i) SURSTRIE g / Responsibility Accounting

frforRad aruTal @ T9ISY / Explain following ratios
(i)  =RUT |HAT YT / Debt Equity Ratio
(i) =Meg Ut / Current Ratio
(iii) <IRT 31U / Quick Ratio
(i) $.9.3./PT.0.




has changed from week to week. You are required to find out the
selling price per unit when the weekly output will be 1,000 units
and 81/3 percent profit on selling price is to be charged.

Units Direct Direct Factory
produced Material Labour  overheads (fixed
in 48 Hrs Cost (Rs.)  Cost (Rs.) & variable) Rs.

400 8,000 16,000 38,000

500 10,000 20,000 40,000

800 16,000 32,000 46,000

U TG &1 Hicharatl & [oRdT & | UishaT @I, AT &1, SR
& /gad QT g1 |

A product passes through two processes prepare process accounts,
normal waste and abnormal waste/gain accounts.

Processes

X (Rs) Y (Rs)
10,000 units Introduced at a cost of 1,00,000 —
Material Added 1,20,000 60,000
Direct wages 1,40,000 80,000
Manufacturing Expenses 40,000 42,830
Normal wastage on input 5% 10%
Scrap value of normal wastage (per unit) 2.00 2.50
Output in units 9,400 8,500

SN oikal Ud foRfi oiRal gRT uef3fd ol & ok & a1 HRUT 87
What are the reasons for difference in profits disclosed by financial
accounts & cost accounts ?

1 X2/

(iv)

D125 BCOMD304
B.COM. THIRD YEAR EXAMINATION, 2012
(Correspondence Course)

PAPER -1V : COST ACCOUNTING
TIME : 3.00 HRS. MM : 70

fcer : faswgl ura moal & Ia¥ SOy | w7t 7oAl & 3f A &1
Note : Attempt any five questions. Each question carries equal marks.
¥, 1. 9 R Sférea fewfor forRag-
Write the short notes on the following -
(i) FIT & / Cost Centre
(i) FTT $P18 / Cost Unit
(iii) T AT @Rgid / Marginal Costing 5+5+4=14
g. 2. A3 T gar | FeEfeRad S difsg -

Calculate the following from the information given below :

(i) 9 31T HHT / Re-order quantity

(i) 9 39T TR / Re-order level

(i) 3fferpad FTid ¥R / Maximum stock level
(iv) ~gAaH ¥l ¥R / Minimum stock level
(v) AT el TR / Average stock level
?fﬂﬁ/ Information

(i) o & IRE 10,000 SHZAT BT AT
Requirment during the year 10,000 units

(i) vfT gB1E BT I 100 IH

Purchase price per unit Rs. 100

(i)

$.9.3./PT.0.



(iii) 3IAT Tl BT 5 UfIId FISUT AN

Storage cost 5% of Average inventory
(iv) Y 31fER AFTT 40 B9 / Cost per order Rs. 40
(v) SIRT 31T Bt (fke TIH) / Reorder period (lead time)
(a) Maximum 30 days (b) Minimum 10 days (c) average 20 days
(a1) 3tfdra 30 A1 () =gmam 10 & (A) @A 20 fF
(vi) 9T & SUMFT / Consumption per day (units)
(a) Maximum 40 (b) Minimum 20 (c) average 30
(1) arferpad 40 (F) ~gAa9 20 (H) 3R 30

3+3+3+3+2=14

frforRad IRUMTAS TSN & 3faiid Ud SR &Y UfT goer
HATS 918, T I8 T BRI 1 150 Tefighe BUCT b T W 120
GUST § QX1 &R ol & | D! UfT 9ueT Auigyl &R 30 I & 3R
S IFDI AU & @l 120 39 U & (3718 €S B Th
&) &1 &R A Hemg W e € -

What earning per hour will a work man receive under the following
incentive schemes, if he executes a piece of work in 120 hours as
against 150 hours allowed to him. His hourly rate is Rs. 30 and he
gets a dearness allowance of Rs. 120 per day of (day of 8 hours)
worked in addition to his wages -

(a) BT 50 Qﬁ%ﬁwmﬁﬂmﬂﬁ/mlsey Premium Plan (50% Bonus)
(b) T WFRTH @M/ Rowan premium plan

(c) SHHT PRI &¥aT M/ Emerson efficiency plan
4+5+5=14

fraforRea gammen & defi9 wear 501 & ey o IuRegal ar
AT I o forq Ao -H0eT &R S HIRTY -

(i)

From the following information compute machine hour rate
charging overhead in respect of machine no. 501.

Rs.
(i)  Cost of machine 5,00,000
(ii)  Estimated scrap value 25,000
(iii) Effective working life 50,000 hours
(iv) Repairs estimated over whole life of machine 50,000

(v)  Standing charges of department for four weekly period 12,000
(vi) Hours worked in four weekly period 240
(vii) No.of machinesin department each of which bears equal charges 5
(viii) Power used by each machine 20 units per hour,

costing 50 paise per unit 14

U YUl 3 R AT Bl TUHT I di faftr= fAfeRy alH-a
g7 ISEI GRT TS BT |

What are the different methods of calculating project on an
incomplete contract ? Explain with illustrations.

foft v BREM F T T Y awgail o Scure fhar ST 8
3R IFHT 48 GUCST dlet Th AWE Pl SIS &1 1500 ShIgar
g1 3 TR wdel § e Ieares J giRac g 8, T P
fIftr=1 @i & fda=or & go=r /=1 deR 7 | Ufr awdrE 48 gue
BRI BT 8 | A8 T IS 1,000 THISIT B9 UR T Ul
3014 T o ST BT § [T Gea R 8 '/ wifcyerdy o oy
[GRIRSIEINS

A certain factory produces a uniform type of articles and has a
capacity of producing 15,000 units per week of 48 hours. The
following information shows the different elements of cost for 3
consecutive weeks of 48 hours. In each week when the output

(iii) $.9.3./PT.0.



Month

Sales (Rs) Purchase (Rs) Wages (Rs)

February 1,80,000 1,24,800 12,000
March 1,92,000 1,44,000 14,000
April 1,08,000 2,43,000 11,000
May 1,74,000 2,46,000 10,000
June 1,26,000 2,68,000 15,000
(a1) g @1 50 wfcrerd fagwa & 3FTel 78 o a¥get &1 i 8

JAT A 50 UfIAT ST 3T HEH H | SR Pl BT b
Td HEM UL I B ST € |

50 % of the sales are realised in the month following the
sales and the remaining sales in the second month
following the sales. The creditors are paid after one month

of purchase.

1 3T BT AFAIAT 6 ¥ 25000 9 E |

Cash at Bank on Ist April (estimated) Rs. 25,000.

1 X2/

(iv)
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Note : Attempt any five questions. Each question carries equal marks.

T. 1. AT BT B BT ST AT TSI o DI IADHTH Bl Bl
29T T & | T7IeT N Bl 2T 9153 T & ?

What are profit maximisation objective and wealth maximisation
objective. How is wealth maximisation is a better objective.

¥, 2. fyAfeRad gammsi | a1 aRASHIeT & adam qea &t ToET Hf
oI 10 TfIerd F1gT &R H9 8T GoTd &I 1 3 &1 gRIIST1Af 5
3 FRA Thepa B TR
From the following information, calculate the net present value of

the two projects and suggest which of the projects should be
accepted assuming a discount rate of 10%.

Project X (Rs) Project Y (Rs)
Initial Investment 20,000 30,000
Estimated Life 5 Years 5 Years
Scrap Value 1,000 2,000

(i) $.9.3./PT.0.



9. 4.

BN ¥ yd Ud R uearq oy (s YaTE) 39 UPR & -

The profits before depreciation and after taxes (Cash-Flows) are
as follows :

Year 1 2 3 4 5
Project X (Rs) 5000 10000 10000 3000 2000
Project Y (Rs) 20000 10000 5000 3000 2000
P/V Factor at 10% .909 .826 .751 .683 .621

gSil ARFT Bl IRATNT HIT v a1 31ef Fuse HIRT | goit
T QIR A EET H 3N TSy |

Define capital structure and explain its meaning. Narrate the
difference between capital structure and assets structure.

T HO-T T Goll e o fafise A1emi | ured gl df -
TR AN 3R TR & :

The capital structure and after-tax cost of capital of the specific
source of a company is as follows :

Source Amount (Rs) Cost of Capital
Debt 3,00,000 4.77%
Preference Capital 2,00,000 10.53 %
Equity Capital 4,00,000 14.59 %
Retained Earnings 1,00,000 14.00 %

goft i IRT 3iId oW &Y 0T DI |

Calculate the weighted average cost of capital.

ST F 3T AT IR & | HrUf~ar gRT i ST arel fafte=
UPBR &b ATHIN BT gui HIRTT |

(i)

What do you mean by the dividend. Explain the different types of
dividends generally declared by companies.

U P! 1T < ot aiomratt & ¥ et U bt 9ot a fadhey
Rgdl & | 319 A AT § foxfiar Siictss &6t T HIfvTT |

A company has a choice of the following three financial plans.
You are required to calculate the financial leverage in each case.

Financial Plan (Rs.)

Equity Capital 50,000 30,000 60,000
Debt 30,000 50,000 20,000
Operating Profit (EBIT) 8,000 8,000 8,000
Interest on Debts 10% 10% 10%

Friefiet goft | 3T a7 A9 £ SAPT Hacd TUSC DIy |

What do you understand by working capital. Explain clearly its
significance.

crer fol. 3Thiet 2008 ¥ S 2008 & 3@y & fofy da & JTeudiicid
sferfdeny e o1 @med €1 FrfoiRad FHal | Ude q18 &
3 H T o forg aifesa arferfdesy &Y e gardt §Y s aoie
ERIEUES

TATA Ltd. wishes to approach the bankers for temporary overdraft
facility for the period April, 2008 to June, 2008. Prepare a cash
budget for the above period from the following data, indicating

the extent as the Bank facilities the company will require at the
end of each month :

(iii) $.9.3./PT.0.
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Note :

1.

9. 2.

faesl g g9l & o oy | Wt 7ol & 31 I &1

Attempt any five questions. Each question carries equal marks.

o fiystor | ey T FEeTd §° fAuve fsr @ e e
dTel TCHT T gui DI |
What do you understand by marketing-mix ? Discuss the elements
which affects the marketing mix.

3121q1/ OR
I~ TR 6 B IRUMSH P 9o HIN | Ih [Imaamdt
UPBR 30 ATedH BT  UROTRT DI ST PR Al 87

Describe the various buying motives. How can a salesman know
the buying motives of his customers ?

S FRISH @7 8° Ud egfie FEfr dwem & fofy Icures
o & Hew &t fada S |

What is Product Planning ? Discuss importance of product planning
in a mordern manufacturing firm.

3720qT1/ OR
gIUS A MY AT TS 87 JIUS qAT SSHd § 3R HIT | Th
THGLTE SI08 BT 9M G Ixd T fobd a1l d &I 5=
TTfey ?

(i) $.9.3./PT.0.



9. 4.

What do you meant by Brand ? Distinguish brands and trade mark.
What considerations are taken in selecting an effective brand
name?

FreiferRad W Rugfrat ke -

Write short note on following -

(i) eI fa¥e / Price Discrimination

(ii) G fohl JoF STIR&IUN / Re-sale price maintainence
(iii) SR HeI18 SARAT / Market Skimming

(iv) =1 A/’ / Discount policies

3121q1/ OR

Heax faddrel @ fHfumal g1 & & oie faddr g’ & T
JAT3T BT Ui BT | T Aep faehar Ht A1 F IR Il 87
I IR DI db b AT TATOT & |

Discuss the functions that wholeselling intermediataries perform
for both retailers and manufacturers. Whether the cost increases
due to services of wholesellers? Support your answer with logic.

“fyemue R fear man fafn 8, ey FE 1 39 pud &l

STATHTHD IR DI —

"Money spent on advertising is an investment not a waste".
Critically examine the statement.

3121d1/ OR
fIeT PelT Ueh Pell & 3MaT fISH? TUSe v A T |

Is salesmanship an art or a science ? Discuss.

(i)

g. 5. fauuE 6t snygfie faReRT 6 et SR | Far g aeR §

fauuE &1 DIg He 87 fadeT HIfv |

Explain the modern concept of marketing. Does marketing have
any importance in seller's market ? Discuss.

3121q1/ OR
FrferRae w G Rt RiRed -
Write short note on following -
(i) UG Sited @e / Product life cycle
(i) == faewse fagetor / Break-even analysis
(iii) foT Jaga & 32T / Objectives of sales promotion
(iv) H1ST AR b2 T / Freight absorption pricing policy

1 X 24

(iii)



U 3. YR sfhr e ifafg, 1949 & uag™ sdisy |

State provisions of Indian Banking Regulation Act., 1949.

3121q1/ OR
PRI S 31 T T 27 R Rord 9 & fags awef o
Il S b Il DI A |

What do you understand by Central Banking ? Explain the
objectives of Central Bank with Special reference to Reserve Bank
of India.

U 4. & I St Sl BRIV 3R Ui IR oikg fo1fRay |

Write an essay on progress and working procedure of Regional
Rural Banks.

3121q1/ OR
HEPRI Sl Dl I fGepr H T BT g ol |

Describe the role of Co-operative Banks in rural development.

U. 5. IUINGD Scbl Pl Ye=e IR Hd Bl 8?2 JHa |

How are Management of Commercial Banks done ? Explain.
3121q1/ OR

P W ool RRed — (31 )

Write short note on following (any two)

(i) <Ig fS=9=0T & ST / Tools of Credit Control

(i) T & o YR / Reforms in the Banking Sector

(iii) P 3R TR § H =R / Difference between

Central and Commercial Banks

(iv) HeTSet 8§ / Mobile Bank Y

(i)

D128 BCOMD307

B.COM. THIRD YEAR EXAMINATION, 2012
(Correspondence Course)

PAPER -VII : INDIAN BANKING SYSTEM

TIME : 3.00 HRS. MM : 70

351 : 3t goat & SV SHorT | 3t 99T & 3ih THIT & |

Note : Attempt all questions. Each question carries equal marks.

q. 1. dod v (fgT) & o1 3 5?2 ARG 6% & Jed 9 (fIs1) &
T g&l qAT SR U&T & 9 37Nl ARy |

What is meant by Balance Sheet ? Explain the main terms on the
assets side and the liabilities side of commercial banks's Balance
Sheet.

3121q1/ OR
TEPRI ST b FIST BT ARRAR i HIfU |

Explain in detail the organisation of co-operative banks.

g. 2. Roid 9 31t gfoear &t oA T8 Hifad ifer <o 7 Ja1 Thifcr ot
PRI & H el o Ahel Rig 837 TUSC DI |

How far the monetary policy pursued by the Reserve Bank of India
succeeded in controlling inflation in India ? Discuss.

3121q1/ OR
ARG ST Dl g Tafeaa f Jag H o= H |

Discuss in brief the recent trends in Indian Banking.

(i) $.9.3./PT.0.



